Find the real zeros of the function. List the x-intercepts of the graph of the function

54) Q(x) = (-7x - 5)2 + 10(-7x - 5) + 24
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Solve the problem.

55) A ball is thrown vertically upward from the top of a building 144 feet tall with an initial velocity of
128 feet per second. The distance s (in feet) of the ball from the ground after t seconds is

s =144 + 128t - 16t=. After how many seconds will the ball pass the top of the building

on its way down?
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Solve the equation on the interval 0= 6 < 2m.
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Solve the problem.
115) A new homeowner has a triangular-shaped back vard. Two of the three sides measure 65 ft and 80
ft and form an included angle of 125°. The owner wants to approximate the area of the vard, so that
he can determine the amount of fertilizer and grass seed to be purchase( Find the area of the vard

rounded to the nearest square foot. 6 %
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Solve the equation on the interval 0= 6 < 27.

114) cos (26) =A[2 - cos (26)
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